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The following table shows the details of

(1) number of outlets,

(i1) average sales (in ¥ Lakh) per outlet, and

(ii1) total profit (in ¥ lakh) of all the outlets of six HP-showrooms A-F selling Laptops in two years 2020 and
2021.

Based on the data in the table, answer the question.

H.P. Showroom wise Sales and Profit Figures in two Years,

: Average Sales Total Profit
Hp. Number of .
Showrooms Outlets (in T Lakh) per Outlet (in% L&}ﬂi}g;j all the

2020 [ 2021 | 2020 2021 2020 2021

A 2 3 100 110 80 120
B 4 6 340 360 250 100
c 1 3 120 140 80 100
D 5 6 180 240 240 360
E 3 4 360 350 300 320

F 5 5 80 60 30 30

fofafaa arfeet § g af 2020 3R 2021 H AUeld 99 a1 §: (A-F) TE.0. Te=a & 9 fawa gl &1
faazor
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2020 2021 2020 2021 2020 2021
A 2 3 100 110 80 120
B 4 6 340 360 250 400
C 1 3 120 140 80 100
D 3 6 180 240 240 360
E 3 4 360 350 300 320
F 5 5 g0 60 30 30

If the profitability per outlet is the ratio of average profit per outlet to the average sales per outlet, then the
profitability per outlet was the highest in 2020 for the HP-Showroom.
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1[Option ID=35501] Question Description : general_paper_genarel paper_set 21_english_q1
2[Option ID=35502]
3[Option ID=35503]
4[Option ID=35504]
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The following table shows the details of

(1) number of outlets,

(i1) average sales (in ¥ Lakh) per outlet, and

(ii1) total profit (in ¥ lakh) of all the outlets of six HP-showrooms A-F selling Laptops in two years 2020 and
2021.

Based on the data in the table, answer the question.

H.P. Showroom wise Sales and Profit Figures in two Years,

. Average Sales Total Profit
HP- Number of .
Showrooms Fudets (in ¥ Lakh) per Outlet (T Lgﬁg;ﬁ all the

2020 [ 2021 | 2020 2021 2020 2021
A 2 3 100 110 80 120
B 4 6 340 360 250 100
C 1 3 120 140 80 100
D 5 6 180 240 240 360
E 3 4 360 350 300 320

E 3 3 80 60 30

30
frafafad arfaet 3 & auf 2020 3R 2021 T el 897 a1 ©: (A-F) Ta.0. =01 & 9yt fawa Fal &1
faaRur
(i) faepg Bl (3MacdcH) B HET
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. Tt fawpa Fal
wat, | PRI uﬁrﬁmﬁaaﬁ%ﬁ - T (T
A il (Y FUT H)
2020 2021 2020 2021 2020 2021
A 2 3 100 110 80 120
B 4 6 340 360 250 400
C 1 3 120 140 80 100
D 3 6 180 240 240 360
E 3 4 360 350 300 320
F 3 3 80 60 30 30
HP-Showroom experienced the highest percentage increase in average profit per outlet in 2021 over
that in 2020.
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1[Option ID=35505] Question Description : general_paper_genarel paper_set 21_english_q2
2[Option ID=35506]




3[Option ID=35507]
4[Option ID=35508]
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The following table shows the details of

(i) number of outlets,

(i1) average sales (in ¥ Lakh) per outlet, and

(1i1) total profit (in ¥ lakh) of all the outlets of six HP-showrooms A-F selling Laptops in two years 2020 and
2021.

Based on the data in the table, answer the question.

H.P. Showroom wise Sales and Profit Figures in two Years,

e e — Average Sales Total Profit
; _ ’ _
Showrooms Cratlcts {in T Lakh) per Outlet (m3 ngﬁ;’f all the

2020 [ 2021 | 2020 2021 | 2020 | 2021

L 2 3 100 110 80 120

B 4 6 340 360 230 400

€ 1 3 120 140 80 100

B 5 6 180 240 240 360
E 3 4 360 350 300 320

! 2 d 80 6 30

0 30
Fafaf@a arfaeT | g1 auf 2020 3R 2021 H AUelT §9- a9 8: (A-F) Ta.01. =1 & 94t faswa &gl &1
faazor
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(i) fdl faspa &5 ofid faw! (@@ =uu )
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o fasra Fst @1 | ufd farera ¥ offa = A A
2 i | fawt @@ s ) Squ
2020 2021 2020 2021 2020 2021
A 2 3 100 110 80 120
B 4 6 340 360 250 400
C 1 3 120 140 80 100
D 3 6 180 240 240 360
E 3 4 360 350 300 320
F 3 3 £0 60 30 30

For all the outlets of a given showroom, if the total profit is equal to the total sales minus the total investment,
then the total investment of HP-showroom F in the year 2020 was :
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1[Option ID=35509] Question Description : general_paper_genarel paper_set 21_english_q3
2[Option ID=35510]

3[Option ID=35511]
4[Option ID=35512]
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The following table shows the details of

(1) number of outlets,

(i1) average sales (in ¥ Lakh) per outlet, and

(ii1) total profit (in ¥ lakh) of all the outlets of six HP-showrooms A-F selling Laptops in two years 2020 and
2021.

Based on the data in the table, answer the question.

H.P. Showroom wise Sales and Profit Figures in two Years.

. Average Sales Total Profit
HP. Number of .
Showrooms Outlets (in T Lakh) per Outlet (ing L&}aligectﬁsf all the

2020 | 2001 | 2020 2021 2020 2021

A 2 3 100 110 80 120
B 4 6 340 360 250 400
C 1 3 120 140 80 100
D 5 6 180 240 240 360
E 3 4 360 350 300 320

F 5 5 20 60 30 30

Fofaaa arferet & & auf 2020 3R 2021 ¥ TUelT 897 a) ©: (A-F) TE.0. oA & T fawa Sl &1
IGER

(i) fapg Bl (3M3ccicy) ol T

(i) vif faspa &g sid faet (@ma =uu )
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qTfciast & WRdd SHidsi & YR UR Y BT IR aiot:

3l aul § ga-ot, TReA & SR fawl sfR vy i

. T faspa Hgl
- g | ufa fawa $3 offaa - T (T
i @ ot @@ vuT ) Fqu
2020 2021 2020 2021 2020 2021

A 2 3 100 110 80 120

B 4 6 340 360 2350 400

C 1 3 120 140 80 100

D 3 6 180 240 240 360

E 3 4 360 350 300 320

F 3 5 g0 60 30 30

Total sales from all the outlets of a showroom was the highest in the year 2020 for the HP-showroom
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1[Option ID=35513] Question Description : general_paper_genarel paper_set 21_english_q4
2[Option ID=35514]

3[Option ID=35515]
4[Option ID=35516]

Sl. No.5
QBID:21201005




The following table shows the details of

(1) number of outlets,

(i1) average sales (in ¥ Lakh) per outlet, and

(ii1) total profit (in ¥ lakh) of all the outlets of six HP-showrooms A-F selling Laptops in two years 2020 and
2021.

Based on the data in the table, answer the question.

H.P. Showroom wise Sales and Profit Figures in two Years.

. Average Sales el Rt
Hp Number of
4 Outlets 4 (in T Lakh) of all the
Showrooms {in T Lakh) per Outlet Dbt
2020 | 2021 2020 2021 2020 2021
A 2 ] 100 110 80 120
B 4 6 340 360 250 400
C 1 3 120 140 80 100
D 5 6 180 240 240 360
E 3 4 360 350 300 320
F 5 5 80 60 30 30
Fofafaa arfeet § & auf 2020 3R 2021 H AUeld 997 a1 §: (A-F) TE.0. oA & T fama i &1
fqazor
(i) fapg Bl (3M3ccicy) ol T
(i) i fapa & siid faw! (@ra =au )

(iii) 7 farepa Sl 1 Pl @M (ARG =9U H), Ui o T g |
dTfcTeT H UEd 3HibSi o YR IR Y DI IR GIolE:

3l aul § ga-ot, TReA & SR fawl sfR vy i

. T faspa Hgl
- g | ufa fawa $3 offaa - T (T
i @ ot @@ vuT ) Fqu
2020 2021 2020 2021 2020 2021

A 2 3 100 110 80 120

B 4 6 340 360 2350 400

C 1 3 120 140 80 100

D 3 6 180 240 240 360

E 3 4 360 350 300 320

F 3 5 g0 60 30 30

The ratic of percentage increase in sales to the percentage increase in profit for the HP-Showroom D in all the
outlets in 2021 over 2020, was

1.8:9
2:91:13
3.17:19
4.6:5
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1[Option ID=35517] Question Description : general_paper_genarel paper_set 21_english_q5
2[Option ID=35518]
3[Option ID=35519]
4[Option ID=35520]
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Given below are two statements:

Statement-I: The objective of the memory level of teaching is to develop rational and critical thinking among
students.

Statement-II: The objective of the reflective level of teaching is the ability to develop independent thinking
and decision making among students.

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false.
4. Statement I 1s false but Statement II is true.

1 1
(2) 2
(3) 3
(4) 4
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1[Option ID=35521] Question Description : general_paper_genarel paper_set 21_english_q6
2[Option ID=35522]
3[Option ID=35523]
4[Option ID=35524]

Sl. No.7
QBID:21201007

Given below are two statements:

Statement-I: Course material provided through digital platform like SWAYAM., helps learners go through it at
any time and at any place.

Statement-II: Discussion boards work as ansynchronous medium as anyone can post any question or reply at
any time.

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement I are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement IT is false.
4, Statement [ is false but Statement II is true.
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@) 2

(3) 3

(4) 4
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1[Option ID=35525] Question Description : general_paper_genarel paper_set 21_english_q7
2[Option ID=35526]
3[Option ID=35527]
4[Option ID=35528]
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QBID:21201008

Which of the following are the characteristics of Teacher centered classroom management?

A Discipline comes from self

B. Teacher is the sole leader

C. Students are facilitators for the operations of the classroom
D. Students are allowed limited responsibilities.

Choose the most appropriate answer from the options given below:

1. A, Band Conly
2. Cand D only
3. B and D only
4. A, Cand D only
(1) 1
(2) 2
(3) 3
(4) 4

o fafgd & 9 1t R1a0 - $fsd Paf uey= 1 fadvan 8 2

A. IR WU A UHeE BT | |

B. fR1em@s TwHE= a1 (3Fh) § |

c. fa=mfi wen & wareE & g @i g |

D. faenfilal 1 Wit SwRard@l f Al a e g |
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1[Option ID=35529] Question Description : general_paper_genarel paper_set 21_english_q8
2[Option ID=35530]
3[Option ID=35531]
4[Option ID=35532]
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A person solves linear equations in algebra for a number of days and becomes progressively more efficient in
solving linear problems. He not only becomes more accurate in his work but also solves the problems much
faster. This progressive improvement in performance is a form of transfer known ag

1. Learning to learn
2. Generalization
3. Transposition
4, Identification
1) 1
(2) 2
(3) 3
(4) 4
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1[Option ID=35533] Question Description : general_paper_genarel paper_set 21_english_q9
2[Option ID=35534]
3[Option ID=35535]
4[Option ID=35536]

Sl. No.10
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Which of the following statement best describes lecture method of teaching?

1. Small step presentation with feedback provided
2. Content delivery in a lucid language
3. Production of large number of ideas
4, Theme based interaction among participants
(1) 1
(2) 2
(3) 3
(4) 4

frafafad § 9 o1 91 $y 80 &1 e Tgfd &1 9o Falag I Harg »
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4. eIl & &t fawg snemid srarafear
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=35537] Question Description : general_paper_genarel paper_set 21_english_q10
2[Option ID=35538]

3[Option ID=35539]
4[Option ID=35540]

Sl. No.11
QBID:21201011

A research paper evaluated by other experts either for publication or presentation at a conference is considered
to have undergone:

1. Peer Review
2. Public Review
3. Private Review
4. Research Review
(1) 1
(2) 2
(3) 3




(4) 4
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1[Option ID=35541] Question Description : general_paper_genarel paper_set 21_english_q11
2[Option ID=35542]
3[Option ID=35543]
4[Option ID=35544]
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When knowledge becomes replicable and verifiable, it is then called

1. Humanistic
2. Impressionistic
3. Scientific
4. Subjective
(1) 1
) 2
3) 3
(4) 4

& I GARIGRT 3R A9 $H- 41 1 ordl 8, df 39 Bl offd] ¢ ---
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1[Option ID=35545] Question Description : general_paper_genarel paper_set 21_english_q12
2[Option ID=35546]
3[Option ID=35547]
4[Option ID=35548]
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Which of the following are the criteria of a successtul interviewer?

A, Ethical

B. Open Minded

C. Gentle and Sensitive

D. Balanced

E. Rigid and Harsh in comments.

Choose the correct answer from the options given below:

A.B.C,Donly

.B,C.D,E only
3.A.C.D.E only
4. A.B.D.E only

(1)1

(2) 2

(3) 3

(4) 4
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=14 fau Tt fdeedl o 9§ Hel 3R &1 90 Pl

1.%Ad A, B.C.D
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(3) 3
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1[Option ID=35549] Question Description : general_paper_genarel paper_set 21_english_q13
2[Option ID=35550]
3[Option ID=35551]
4[Option ID=35552]
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Which of the following are ethical problems in research?

A. Plagiarism

B. Coercion

C. Breach of confidentiality
D. Beneficence

E. Fidelity

Choose the correct answer from the options given below:

AB, C only

.B.C.D only
3.C.D.E only
4, A, D, E only

(1) 1

(2) 2

3) 3

(4) 4

fFofefad o O - iy Bt Hifard soen €

A. ifefde IR (=S
B.

C. Mg raar 1 foan ST

D. IUSHIGT

E. SHFGERT

i< fau e faseul 5 9 961 SR &1 90 Sife:

1. AT A, B, C
2. %dd B, C,D
3. %9d C,D,E
4. $qd A, D, E
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(3) 3

(4) 4
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1[Option ID=35553] Question Description : general_paper_genarel paper_set 21_english_q14
2[Option ID=35554]
3[Option ID=35555]
4[Option ID=35556]
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Given below are two statements:

Statement-I: For open-ended questions, respondents can produce their own answers without any restriction of
length.

Statement-II: The memory phenomenon of telescoping is not an issue in survey research.
In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct.
2. Both Statement I and Statement II are. incorrect
3. Statement I is correct but Statement II is incorrect,
4, Statement I is incorrect but Statement II is correct.
(1) 1
(2) 2
3) 3
(4) 4
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1) 1
(2) 2
(3) 3
(4) 4
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1[Option ID=35557] Question Description : general_paper_genarel paper_set 21_english_q15
2[Option ID=35558]
3[Option ID=35559]
4[Option ID=35560]
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The preface to a book is an example of:

1. Convoluted communication
2. Ritualistic communication
3. Informal communication
4. Feed forward communication
(1)1
(2) 2
(3) 3
(4) 4
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1[Option ID=35561] Question Description : general_paper_genarel paper_set 21_english_q16
2[Option ID=35562]
3[Option ID=35563]
4[Option ID=35564]
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A message beneath a message is often referred to as:

. Lower text

. Critical text
3. Appended text
4. Sub-text

(1)1

(2) 2

3) 3

(4) 4
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(1) 1

(2) 2

(3) 3

4) 4
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1[Option ID=35565] Question Description : general_paper_genarel paper_set 21_english_q17
2[Option ID=35566]
3[Option ID=35567]
4[Option ID=35568]

Sl. No.18
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What precautions are necessary in the context of online information?

A. Discussion groups information is not amenable to checking.

B. There is no need to compare the information given by different websites,
C. Check the home page or the 'About us' section of the concerned website.
D. Do not trust the information without date.

E. Do not always trust the institution that owns the website.

Choose the correct answer from the options given below:

1.A B, Conly
2.B.C.D only
3.C.D.E only
4, C, D, A only

(1) 1

) 2

(3) 3

(4) 4

311 @re Yo & Yed # o ¥ yaiury siawg® ¢ -

A. T4 g1 B Y1 olid & el TgI gil © |

B. [ald daHIgeH GRI & 15 a1 1 qal B & A=l 76 ¢ |
C. Yaitd 9e9Iee & €W IS 133 39 TR Ofid DX |
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1. AT A, B, C
. WAdB.C,D
. HAAC. D, E
. $aadC, D, A

1) 1
(2) 2
(3) 3
(4) 4

[FER

e

1[Option ID=35569] Question Description : general_paper_genarel paper_set 21_english_q18
2[Option ID=35570]
3[Option ID=35571]
4[Option ID=35572]
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Given below are two statements:

Statement-I: In the transmission model of communication, the emphasis is not on the process of
communicating,

Statement-II: On the other hand, the symbolic model does not focus on the process of exchange of
information.

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement IT are false.
3. Statement I is true but Statement II is false.
4. Statement I 1s false but Statement II is true.

1)1
(2) 2
(3) 3
(4) 4
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L HYT 1 IR 1A ST g

YT 1 T 8, A HYT 11 AT B
YT 3T 8, AT YT FI B
1) 1

() 2

(3) 3

4) 4

R

1[Option ID=35573] Question Description : general_paper_genarel paper_set 21_english_q19
2[Option ID=35574]
3[Option ID=35575]
4[Option ID=35576]

Sl. No.20
QBID:21201020

Match List T with List IT

LISTI LISTII
(Communication Codes) (Characteristic)
A [Natural code I |Reflection of mass or collective perception
B. |Technical Code II. |Appreciation of cultural artifacts
C. [ldeclogical Code I11. |Reflects the socio-cultural world
D. |Aesthetic Code IV. |Operational modes of media

Choose the correct answer from the options given below:

. A-L, B-II, C-III, D-IV
. A-II, B-IIL, C-TV, D-1
CA-ILL B-IV, C-1, D-II
CA-TV, B-1, C-I1, D-III
11
(2) 2
(3) 3
(4) 4

N




il 1 I1Y | 11 1 el HIfolg

P e

. do 41 o YHEU &
A e dfgar LS P N

: ipidd dlpiadl df
B. [d@-i®! dledl L e _
; ; IS - i fay
C.. [FaTRe Hfea U o seai 8 |
D. [gicims dfgdl IV. [oF T9R &1 Udra- araal

id fau Tt fadhedl § 9§ Ug! SR &l 99 BIfou -

. A-L B-II, C-1II, D-IV
- A-IIL B-III, C-IV, D-1
. A-IIL B-IV, C-1, D-1I
. A-IV, B-1, C-I1, D-III
1)1
(2) 2
(3) 3
(4) 4

S R O R

1[Option ID=35577] Question Description : general_paper_genarel paper_set 21_english_q20
2[Option ID=35578]
3[Option ID=35579]
4[Option ID=35580]

Sl. No.21
QBID:21201021

A man starts working from his home, He walks 20 meters in the west direction, then turns right and walks 30 meters. Thereafter he walks
10 meters in the east direction. Find the aerial distance between the end point and the starting point.

.10 4/ 10m
. 100 4/10m
.10/5m
5./10m

PO A

(1) 1
) 2
(3) 3
(4) 4

U 3M1EHT 37 R U I $RY Bdl § | 98 uidm fG=n o 20 Hex Iadl 5. 39S 918 alfe-l iR o3 30 Hiex 9adl § | g9
a1, a8 RA = ¥ 10 Hiex gaar g | 3Ry fdg ¥ sifan fdg & &9 &t thaa (sreria) g8 Id S |

. 10/70 IR
- 100,/70 HIeR
.10/ HIeX
570 HIEX
11

2) 2

@) 3

(4) 4

= =

N ]

1[Option ID=35581] Question Description : general_paper_genarel paper_set 21_english_q21
2[Option ID=35582]
3[Option ID=35583]
4[Option ID=35584]

Sl. No.22
QBID:21201022

A 1s the son of B but B is not the father of A. How is B related to A?

1. Grandmother
2. Grandfather
3. Mother

4. Uncle

(1)1

(2) 2

(3) 3

(4) 4
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1) 1

2) 2

3) 3

4) 4

1[Option ID=35585] Question Description : general_paper_genarel paper_set 21_english_q22
2[Option ID=35586]

3[Option ID=35587]
4[Option ID=35588]

Sl. No.23
QBID:21201023

In a forest there are some Tigers and Peacocks. The total number of heads is 90 and the total number of legs is
240, Find the total no. of Tigers and total number of Peacocks in the forest i.e. (Tigers, Peacocks)

[ ]

)
)
)

o L I SN

0
0)

(4) 4

& G H, PO 919 SR TR E | 59 o K11 31 2190 € AR N 31 ot S@m 240 B | 37 F arf )
Pl HEAT SR ORI 1 el YA (a1, TER) 3 (o |

(35, 55)
. (45, 45)
. (40, 50)
. (30, 60)
)1
(2) 2
(3) 3
(4) 4

e

1[Option ID=35589] Question Description : general_paper_genarel paper_set 21_english_q23
2[Option ID=35590]
3[Option ID=35591]
4[Option ID=35592]

Sl. No.24
QBID:21201024

What number should replace question mark (7) in the series given below?
125,129, 120, 136, 111, 147, 7

183
258

3.196

4. 98
1) 1
) 2
3) 3
(4) 4

= &1 T3 Y@ I, wyarEs 91 (2) B ®IH 9= -1 g dey ¢

125,129,120, 136, 111, 147, ?

[S-R

b =

83
58
96
8

SR )
D =

(1) 1
) 2
3) 3




(4) 4

1[Option ID=35593] Question Description : general_paper_genarel paper_set 21_english_q24
2[Option ID=35594]
3[Option ID=35595]
4[Option ID=35596]

Sl. No.25
QBID:21201025

If in a certain coding language, A=26, G=20, GO=32, and SOME = 56, then the value of COME will be equal
to

. 60
T2
48
.36
1) 1
(2) 2
(3) 3
(4) 4

g T (1%d Te W1 8, A=26, G=20, GO = 32 3R SOME = 56 &, 78 COME &1 AT f&eidh axTax gl 2

| SR

L

=1 G

il e
e
o oot S

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=35597] Question Description : general_paper_genarel paper_set 21_english_q25
2[Option ID=35598]

3[Option ID=35599]
4[Option ID=35600]

Sl. No.26
QBID:21201026

Which logical fallacy is exemplified in the following statement - "No one can criticize the Freudian
psychoanalysis unless the one who criticizes himself has been psychoanalysed".

1. Ad Hominem
2. Appeal to authority
3. Appeal to Ignorance
4, Equivocation

1y 1

(2) 2

3) 3

4) 4

Ffaf@d o= & $1H-9 9 Y © 376’0l fHadr & - @i U whasad! A-Ifawdy ©f 78 do
AT el B IHdl & 98 a [ Wy HAFS BT ol 71 [aLeyur 7 &2 e sl |

1[Option ID=35601] Question Description : general_paper_genarel paper_set 21_english_q26
2[Option ID=35602]
3[Option ID=35603]
4[Option ID=35604]

Sl. No.27
QBID:21201027

Which of the following propositions is logically equvalent to the proposition - "All frogs are amphibians"?

1. No amphibians are non-frogs.
2. No frogs are non-amphibians.
3. Some amphibians are frogs.

4. Some amphibians are not frogs.




(1) 1
(2) 2
(3) 3
(4) 4

Fafdiaa § o @ ufagied <l dee SyaeR § » Uiieitd adbared 9 difd e $U H 90 § 2

1. Fig N ITR RAeHF TR ¢ |
2. Fig R Heh R-ITR T EAE |
3. TT SHTRACT A ¢ |
4. O SUTR HeH Al ald © |

(1) 1

@ 2

(3) 3

(4) 4

1[Option ID=35605] Question Description : general_paper_genarel paper_set 21_english_q27
2[Option ID=35606]
3[Option ID=35607]
4[Option ID=35608]

Sl. No.28
QBID:21201028

If the proposition 'some fishes are not amphibians' is given as false then which of the following propositions
can be immediately inferred to be true ?

A. No amphibians are fishes.
B. All fishes are amphibians.
C. No fishes are amphibians.
D. Some fishes are amphibians.

Choose the most appropriate answer from the options given below:

1. Aand C only
2. Cand D only
3.Band D only
4. D only

(1) 1

2) 2

3) 3

(4) 4

% "Fo Toiadl SUTER o1 § HIae< &I g & v 1 131 771 ¢ 9 FafaRaad § 4 oF ol
Ul 1 dicpiie o9 9 T 811 ST o o Fadl g 2"

A BIe i SYT=R ol T8I © |
B. Wi aaferal SyT=R § |
C. &ls 1 sl SHT=R T8 g
D. TS Al SUTERE |

4 fu 7T fawedl § ¥ 99 IUgH SR BT 90 ST

1[Option ID=35609] Question Description : general_paper_genarel paper_set 21_english_q28
2[Option ID=35610]
3[Option ID=35611]
4[Option ID=35612]

Sl. No.29
QBID:21201029




Which of the following propositions are so related that they cannot both be true, although they may both be
false?

A. All frogs are amphibians,

B. Some frogs are amphibians.

C. Some frogs are not amphibians.
D. No frogs are amphibians.

Choose the most appropriate answer from the options given below:

1. Aand C only
2. Cand D only
3.B and C only
4, A and D only

1) 1

) 2

3) 3

4) 4

mﬁ@ﬁq@mﬁﬁwwﬁmﬁ%%ﬁaﬁwﬁﬁmﬁwﬁaﬁmﬁ

A. Y Aed IYTRE |

B. T Ho® SHTRE |

C. T8 HeP SUTR L & |
D. %5 W He® SHTER T8l § |

19 feu Tt faoedl § ¥ 9l UG TR BT 907 SIT:

1. FaAAMRC
2.%ad C AR D
3. Had B AR C
4. %ad AR D

@ 1

() 2

(3) 3

(@) 4

1[Option ID=35613] Question Description : general_paper_genarel paper_set 21_english_q29
2[Option ID=35614]
3[Option ID=35615]
4[Option ID=35616]

Sl. No.30
QBID:21201030

Which of the following arguments is an example of the fallacy of a sadharana (narrow middle term) according to Nyaya (classical Indian

school of Logic)?

1. Sound is non-eternal because it is produced.
2. Sound is eternal because it is audible.
3. Sound 1s eternal because it is produced.
4, Sound is quality because it is visible,

1) 1

) 2

3) 3

4) 4

Y (YRA ARG T6-1a) & SR FEkiEd § 4 $1H - J gfed SR (5 vHEus) db-aN &1 0P 3aleiv 6 2

1. @ IR-1yd © [ifd e I el 2 |
2. G 1y © FUifh g8 Y Bt B |

3. 491 YA & Fifd g8 AT eI © |

4. @M U1 € I T8 SPIRR BRI § |

(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=35617] Question Description : general_paper_genarel paper_set 21_english_q30
2[Option ID=35618]




3[Option ID=35619]
4[Option ID=35620]

Sl. No.31
QBID:21201031

If one MegaByte is equal to 22° Bytes of computer data storage, then 2048 TeraBytes is equal to bits of
data storage.

-szl
2 oM
3. 25—1
£
1) 1
(2) 2
3) 3
4) 4
ﬁw@g,wﬁwﬁm@aw%mmﬁwﬁﬁ 2048 CITEIZCH, SICT HSRU &
EREREEUIE
1. 2:'-.1
g,
5,908
4,277
1) 1
(2) 2
@3) 3
(4) 4

1[Option ID=35621] Question Description : general_paper_genarel paper_set 21_english_q31
2[Option ID=35622]
3[Option ID=35623]
4[Option ID=35624]

Sl. No.32
QBID:21201032

Which of the following best describes Web 2.0?

1. Static websites

2. Intelligent websites

3. Social media and user-generated web content
4. Hypertext mark-up language

(4) 4

FEfaf@ad d I oH 99 2.0 HT 99N RIP T qUH HLaT g 2

1. R (D) Jaarged
2. 3t deHsey
3. FiNE HifS a1 SR wiadl-aiHd da s
4. GHURCHRE HIh Y ciidel
(1) 1
(2) 2
@) 3
(4) 4

1[Option ID=35625] Question Description : general_paper_genarel paper_set 21_english_q32
2[Option ID=35626]
3[Option ID=35627]
4[Option ID=35628]

Sl. No.33
QBID:21201033




Given below are two statements:
Statement-I: Video cards and sound cards are typical examples of computer software.

Statement-II: Examples of software utilities include anti-virus software, anti-spyware software and screen
savers.

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false,
4, Statement I is false but Statement II is true.

Y1 : JST BT IR TS PTS IR ediR & Ay ISR € |

FHY 11 : TOCT AR ATFCOTR, U0CT - WEAIR UIFaaR 3R ¥hiH Uad, QIedtR Suar aegs &
REARUERIEGE
SRIF HYA & IS |, Aid [SU Y [dwmed| H I gl 3R & 994 B

HY 1 AR I EH A B

HYF IR I EH] ST Bl

. PYF 1 A B, A HYT 11 A B
BT AT ¢, AT dY 1 9d gl
(1) 1

2) 2

3) 3

(4) 4

|

S Y

1[Option ID=35629] Question Description : general_paper_genarel paper_set 21_english_q33
2[Option ID=35630]
3[Option ID=35631]
4[Option ID=35632]

Sl. No.34
QBID:21201034

Which of the following statements are true ?

A Hypertext links in the WWW are designed to be unidirectional, which means that the destination of a
link may be moved or deleted without the source being notified, resulting in broken links.

B. The Google search engine algorithm is secret, so the general public does not know how the results of a
search are being ranked when presented to a user.

C. Web search engines collect personal data and use that data to target users with customized advertising.

Choose the correct answer from the options given below:

1. A and B only
2. Aand C only
3.B and C only
4. A, Band C

1)1

(2) 2

(3) 3

4) 4
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URUTH 1 W FOId & 54 T a1 il g1 dl 63 iR 9 g8 dfddes fear mang |

C. 99 9 gor (ol STeT &1 998 B3l § SR 39 STel &1 SaRgHarER &9 & a1y aféd
AT & fore waiT i Sar g |

i fau e faenl 5 € 961 SR &1 90 Sife:

1. $ad A IR B
2. HAAAARC
3. Had B AR C
4 A B3RC

1

) 2

@3) 3

@) 4

1[Option ID=35633] Question Description : general_paper_genarel paper_set 21_english_q34
2[Option ID=35634]
3[Option ID=35635]
4[Option ID=35636]

Sl. No.35
QBID:21201035

Match List I with List IT

LISTI LISTIT
(Computer Term) (Description)
A lpEG I Sta.n.clar(_i adopt?cl by the electronic m11sic industry for
controlling devices such as svnthesisers and sound cards.
This format allows the storage of multimedia files rather
than just sound.
[File compression format designed to make photo files
smaller in size for storage and for transmission
[File Compression system for music which does not
‘Inoticeably affect the quality of the sounds.

B.MIDI II:

C.MP3 format  |III]

D.MP4 format IV

Choose the correct answer from the options given below:

.A-III B-1L C-1IV, D-IT
CA-IIIL B-IV, C-1, D-1I
.A-IL B-1,C-1IV, D-III
A-TIV, B-1, C-II1, D-IT
(1)1
) 2
3) 3
(4) 4

R




el 11 gl 11 ¥ e Sy

T T
(FUIER WD) @ut)
ScIaeI e ST ST g gad oy
A |IPEG L [RuEeR R UES ®Ts 4R FEF0 g S0 -
EISKSIEET
I WIEU 9 thad - @ dfctp Hee (M 1ad] BIgdl &l
HSRU BT & |
BI3cl HAYU WY HSRUI g R YaRUl 2 SHTBR H
C-MP3URY iy et 2 ier s 2 TR ST |
[H77d B wTga Haru & a8 RReH (Ysid) o O S
D MP4 BRIVt 1oparer o) e ol @ e =8 vl € |

g fau U fa@eul # ¥ Ugl SR &1 99 DI -

1. A-IIL B-1. C-IV, D-1I
2. A-IIL B-IV., C-1, D-II
3. A-IT, B-1, C-IV, D-III
4. A-IV, B-1. C-III, D-II

1) 1

(2) 2

(3) 3

(4) 4

B. MIDI 1L

1[Option ID=35637] Question Description : general_paper_genarel paper_set 21_english_q35
2[Option ID=35638]
3[Option ID=35639]
4[Option ID=35640]

Sl. No.36
QBID:21201036

Non-point sources of water pollution are:

A. from specific location
B. diffuse

C. episodic

D. identifiable

E. difficult to monitor

Choose the correct answer from the options given below:

1.B, Cand E only
2. A Band Conly
3.B.Cand D only
4, C,Dand E only

1 1

(2) 2

(3) 3

(4) 4

-5 & TR WA g E |

A fafy safeufa
B. fagaikd

C. UrERTS

D. IR (TeIHENY)
E. 3FdI&0 8§ Bi3Tg

i fau e faedl § O gl SR &1 994 BIfg:

1.%ad B, C ARE
2. HAAA, B3R C
3.%dd B, C 3IRD
4.%9dC,DIRE

) 1

() 2

3) 3

(@) 4




1[Option ID=35641] Question Description : general_paper_genarel paper_set 21_english_q36
2[Option ID=35642]
3[Option ID=35643]
4[Option ID=35644]

Sl. No.37
QBID:21201037

Which of the following are biofuels?

A, Gasoline
B. Methanol
C. Methane
D. Ethanol

Choose the correct answer from the options given below:

1. A, Band C only
2.B.Cand D only
3.Band D only
4. A and D only
1)1
2) 2
(3) 3
(4) 4

Ffcifad 1 A ola-gu & 2

A TERE
B. ByATA
g lﬂﬂij

D. TyAE
i feu T faedl o ¥ Tel SR &1 90 Diiuu:

1[Option ID=35645] Question Description : general_paper_genarel paper_set 21_english_q37
2[Option ID=35646]
3[Option ID=35647]
4[Option ID=35648]

Sl. No.38
QBID:21201038

Given below are two statements:
Statement-I: International Solar Alliance's present post of President is held by India.
Statement-II: The United States of America 1s not a member of International Solar Alliance.

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement IT are false.

3. Statement I is true but Statement IT is false.
4. Statement I is false but Statement II is true.
(1)1
(2) 2
(3) 3
(4) 4
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HYF 11 : GG A SHRDT SIRIPII IR 38U P10 G- 61 5 |
IURITd PYA & ATED 1, A 4T TU fadmed H I8! SR &1 999 DI

L HYF1 R 1A TA I

L PY 1 R I EH ST

YA 1 A &, A PUT 11 A B
FUF AT e, AT sy n ad gl
(1) 1

2) 2

(3) 3

@) 4
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1[Option ID=35649] Question Description : general_paper_genarel paper_set 21_english_q38
2[Option ID=35650]
3[Option ID=35651]
4[Option ID=35652]

Sl. No.39
QBID:21201039

Given below are two statements:

Statement-I: United Nations Framework Convention on Climate Change (UNFCC) was framed during Kyoto
Protocol, 1997,

Statement-II: Kyoto Protocol set up different limits of carbon emissions for individual nations, depending on
their output before 1990.

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement I is false
4. Statement I is false but Statement II is true

1) 1

(2) 2

(3) 3

(4) 4

Bl CRICACRRINES

FYT I : GYFRIY Serarg YRacH a1 SHg g U U 3t ) 1 767 FIel Wicisld 1097 & 99y
EEIEI

FYT 11 : FICI WICipid = 4201 & gy 1990 & Jd I GRT F11d [T & & YR R BIa- Fofoi B
- T qg @ o |
SWRIed @Y & ATl 1, -l QU 77U [dF el & 98l 3R &1 98 I

L PYF1 IR I SHI T S
CPYF1 R I EH ST R

Y 1 A &, A DU I A B
BT AT ¢, AT dY 1 9d gl
1) 1

(2) 2

(3) 3

(4) 4
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1[Option ID=35653] Question Description : general_paper_genarel paper_set 21_english_q39
2[Option ID=35654]
3[Option ID=35655]
4[Option ID=35656]

Sl. No.40
QBID:21201040




Match List T with List IT

LISTI LISTII
(Pollutant) (Source)
A [Lead 1. |Coal combustion
B. Mercury II. |Batteries
C. [Benzene 111 [Paint
D. |Cadmium IV [Petrol

Choose the correct answer from the options given below:

I. A-III, B-I, C-IV, D-II
2. AL, B-1, C-11, D-IV
3. A-IV, B-III. C-IL, D-I
4. A-IV, B-L. C-III, D-II

1)1

(2) 2

(3) 3

(4) 4

it 1 91 Yl 11 T e SIfee

(LIRED) ,
A [EiEm I [®RIc ggd
B. [ORT IL Ii
C. [ddli Il U
D. V. [dera

FgfaRad fdseal § 9 98l 3R &1 I994 Sifoly -

1. A-IIL, B-1, C-IV, D-II
2. A-IIL B-1, C-II, D-IV
3. A-IV, B-II. C-1I, D-I
4. A-IV, B-1. C-III, D-1I
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=35657] Question Description : general_paper_genarel paper_set 21_english_q40
2[Option ID=35658]

3[Option ID=35659]
4[Option ID=35660]

Sl. No.41
QBID:21201041

Which of the following are the main focus areas of Unnat Bharat Abhiyan (UBA)?

A Holistic development of rural clusters

B. Reorient the academic curricula and research programmes in Higher Education Institutions to align them
with development of local community.

C. Enable effective intervention at the field level

D. Inculcate the moral values.

Choose the correct answer from the options given below:

1. A, Band C only
2. B and D only
3. Aand C only
4.A.BCandD

(1) 1

@) 2

3) 3

(4) 4
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1[Option ID=35661] Question Description : general_paper_genarel paper_set 21_english_q41
2[Option ID=35662]
3[Option ID=35663]
4[Option ID=35664]

Sl. No.42
QBID:21201042

Which of the following are the Central Universities of India?

A. Nagaland University, Nagaland

B. Acharya Nagarjuna University, Andhra Pradesh
C. Sikkim University, Sikkim

D. Manipur University, Manipur

E. Guwahati University, Assam,

Choose the most appropriate answer from the options given below:

1.B.D and E only
2. A, Cand D only
3.A.B.CandE only
4,C,Dand E only
1) 1
(2) 2
3) 3
(4) 4

fFeffad T AoH T YR S S fayfoaa g 2

A AT S fayfaemey, armds

B. 31T ARTSA [ayfaene, siudger
c. faiae fayfaera, Rand

D. HiUIgR fayfdened, Aiorgy

E. TaTeI<] fayfaanem, s/aa

4 fau Tt faeal § ¥ 98 UG IR BT 907 BT

1. ®ad B, D AR E
2. HBAAA, C IR D
3. $dd A, B, C AR E
4.%dd C,D AR E
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=35665] Question Description : general_paper_genarel paper_set 21_english_q42
2[Option ID=35666]

3[Option ID=35667]
4[Option ID=35668]

Sl. No.43
QBID:21201043




Given below are two statements:

Statement-I: University Grants Commission (UGC) became a statutory organization of the Government of
India by an act of Parliament in 1956,

Statement-II: National Council of Educational Research and Training (NCERT) is an autonomous organization
set up in 1961 by the Government of India.

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are correct.

2. Both Statement I and Statement IT are incorrect.

3. Statement I is correct but Statement II is incorrect.
4. Statement I is incorrect but Statement II 1s correct.

1) 1
(2) 2
(3) 3
(4) 4

Bl ISR TR

FYT1 : [aylqeery SIaH AT (G o) 1956 H 648 & U HYHFH gRI HRd WHR 1 TH
Fifafere e & 77T |

HYT 1 : URd TIPR &RI 1961 T VUG 9Ty e 8™ vd wikiam uikeg (.82, oR. &) te
WO 9TEA ¢ |

SRITd DY & el H, =i 3T T fadedi & I Tl SUga ST 1 99 DIGT:

 HYF 1 AR 1 EH 9al Bl
YT I 3R 11 ST 7T S
.Y 1 TE 8, Af FUF 11 Tad
.U 17T &, A HU= 11 T8l 8

(1)1
2) 2
(3) 3
(4) 4

b3 —

o Taa

1[Option ID=35669] Question Description : general_paper_genarel paper_set 21_english_q43
2[Option ID=35670]
3[Option ID=35671]
4[Option ID=35672]

Sl. No.44
QBID:21201044

During Colonial period veterinary colleges were opened in:

A Lahore in 1832
B. Bombay in 1882
C. Calcutta in 1843
D. Delhi in 1899,

Choose the most appropriate answer from the options given below:

AB.Cand D

. Aand B only
.Aand D only
A, B and C only
1) 1

(2) 2

3) 3

4) 4

P




AIFAMReE S1d & aRH fa4 u-Rid e Tefaeey @id W a

A 1snHaERHA
B. 182 HE a5 §

C. 1843 H @@l H
D. 1899 H feett &

4 feu T fawed § ¥ 9y SUgH SR BT 0T BT

1.A.B,C3RD
2. %ad A 3R B
3

1[Option ID=35673] Question Description : general_paper_genarel paper_set 21_english_q44
2[Option ID=35674]
3[Option ID=35675]
4[Option ID=35676]

Sl. No.45
QBID:21201045

During ancient period in India which of the following universities developed in connection with temples and became centers
of community life in places of their location?

A. Odantapuri
B. Navadeep
C. Valabhi

D. Banaras

Choose the most appropriate answer from the options given below:

. A and B only
2.B and D only
3. C and D only
4. A, B and C only
(1) 1
(2) 2
(3) 3
(4) 4
e+ STd & aR1F YRA 1 FefdiEd ¥ 9 $H 9 [ayfaemey diexl & 9y ddy & 39 1 g gu @ik
YT SafRd & R H I Hia $1 b & 2

A 3igagd
B.9deg
c. ga4t
D. §IRY

4 fu 7T fawedl § ¥ 99 IUgH SR BT 90 ST
1.%acl A 3R B

1[Option ID=35677] Question Description : general_paper_genarel paper_set 21_english_q45
2[Option ID=35678]
3[Option ID=35679]
4[Option ID=35680]
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Read the passage and answer the question given below :

Aware of the high stakes involved in seizing control over the Indus for navigation. the British persuaded two
Sindh amirs, Rustam Khan, the Amir of Khanpur and Murad Ali of Hyderabad, to enter into a one-sided treaty
and as proxies to throw the Indus open to the British Military and political penetration. Under the treaty,
signed reluctantly by the Sindh amirs, the British obtained the right to take the final decision regarding
taxation duties on goods passing through the Indus to the Arabian Sea. This was a variation of a gun-boat
diplomacy with which the advancing British seized the veto in their hands to control the entire trade flow from
Central Asia to Sindh and thereby the right to manipulate the economies of the regions and the states,
including that of Ranjit Singh whose removal was not on their agenda.

The next step was to coerce Ranjit Singh to sign the treaty, opening Sutlej to commerce as well. The British
agent, Captain, Wade, told the Maharaja that the expansion of trade in his (the Maharaja's) dominions would
result only after singing the treaty. But the British agencies had disrupted the economy of the Sikh state by
imposing a heavy toll of Rs. 570 on the boats carrying large loads. This included the pashmina shawl output
from 20,000 looms that were operating in Kashmir. The shawls were exported mainly to the European market,
especially France, where they posed stiff competition to woollen manufacturers from Britain.

Fafafad Teiw o ufdd 3R Uy 3T 3w SIS |

1 & forg Rie R (=01 wifud &3 4 g1 ard fgdanl &1 SHd gU iU 3 Ry & 3 ok, @F%R
& 3R $XIH WM 3R SeRTETE RIS 3l 31 U 9&iTa JHaiar d- 3R wieht (e & =0 i
fafexr SF@1 SR To-iae wawr & fog Ry &1 @ & g o il

Ry & SHRI GRT =590 GIeR U 7TU 59 JH3Id & ded SiUsl ®f Ry ¥ 3RE PR 1 3R
oI aTell avg3fl IR SHIUTH Y| & ey T ifaqn [k &4 &1 ifteR urd g 7 | 7 digard! g
eI BT Uizl U1 forad Sl 9gd gy Sl 3 geg Uik 3 Ry a@ g ard §9uf R &1 FRifa
PR & o FUReR (@ieh &1 SR 3= 8141 3 1 [T iR 9% gR194 &1 3R I91 B
Hforawy1af ®1 30 fedl & =Y S BT SAUPR 1 T B o/ | 578 0rsiiarys o siforaer o
<iHE o oI Gared ST 316 3961 B Al (Tolsn) J o7 |

SATE B H I0T6id (e P Tdas &l IR & [0 Gia- & JH3d TR SWeR S & ford 160 &A1 U7
| f3fewr Uoie Fp- 38 A HeRToN 9 &gl i IHsid TR 8WIER 334 & a6 8 3-9d (HERIVN) & 0
qTel &3 H TR B faEdR 81 | 91 fsifew uaifyal 3 sranfeie &8 |EH o §H arell A1dl 9R 570 3. P
YRt % fERITT o= Rieg Tou &t srfegawyl o faufed o= fegr ot | 599, ek & denfoa fe o 3e
20,000 e I GRAAT QTd &1 Icdre o N o7 | 37 Widl &1 eIy J WYY a6k, RN Wiv,
I [aid forar ST of | ofel 391 fored & S+ fafmiol &1 ol ufaeaef faerd o |

Given below are two statements:

Statement-I: The Pashmina shawls were quite popular in Europe.
Statement-II: The British made it easy for Kashmiri manufacturers to export the Pashmina shawls to Europe.
In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct.

2. Both Statement I and Statement II are. incorrect
3. Statement I is correct but Statement II 1s incorrect.
4. Statement I is incorrect but Statement II 1s correct.

1) 1
) 2
(3) 3
(4) 4

RATHRTTE

FYF I : G 2T g9 T BB B g 3 |

YT I : 311 A HRER] fafmiarsi & forg gRig d w=rdi=1 2iTd &1 Hald S=A1 3= 90 |
SWRIK HUH & el H, i 34U T fadbedi & 8 Gad SugR] SR 1 994 DIT:

. HYF 1 AR IS Tel Bl
HYF 1R I EH Tad g
. HYF 1 98l 8, Afep U= 11 7T ¢ |
.Y 1 TTqd §, Afeh] HU 11 T8l 2

1)1
(2) 2
(3) 3
(4) 4
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2[Option ID=35682]
3[Option ID=35683]
4[Option ID=35684]

Sl. No.47
QBID:21201047
Read the passage and answer the question given below :

Aware of the high stakes involved in seizing control over the Indus for navigation, the British persuaded two
Sindh amirs, Rustam Khan, the Amir of Khanpur and Murad Ali of Hyderabad, to enter into a one-sided treaty
and as proxies to throw the Indus open to the British Military and political penetration. Under the treaty,
signed reluctantly by the Sindh amirs, the British obtained the right to take the final decision regarding
taxation duties on goods passing through the Indus to the Arabian Sea. This was a variation of a gun-boat
diplomacy with which the advancing British seized the veto in their hands to control the entire trade flow from
Central Asia to Sindh and thereby the right to manipulate the economies of the regions and the states,
including that of Ranjit Singh whose removal was not on their agenda.

The next step was to coerce Ranjit Singh to sign the treaty, opening Sutlej to commerce as well. The British
agent, Captain, Wade, told the Maharaja that the expansion of trade in his (the Maharaja's) dominions would
result only after singing the treaty. But the British agencies had disrupted the economy of the Sikh state by
imposing a heavy toll of Rs. 570 on the boats carrying large loads. This included the pashmina shawl output
from 20,000 looms that were operating in Kashmir, The shawls were exported mainly to the European market,
especially France, where they posed stiff competition to woollen manufacturers from Britain.

fgfefad Teiw ®f ufed 3R Y 3T 3R 21T |

T & for Rie) TR (=01 ®ifd &3 4 61 ard fedenyl &1 SHd gU iU 3 Ry & 3 ok, @R
& 3tk TEH WH 3R SeRIaTE & RIS 31l B U Uiy IHeiar 3 ok wieft () & =9 H
fafew I SR ToFifas waw & fou Ry & @ra- & fog el fean

iy & SR GRI Si-=oTyde sXIER T U 33 THSId & ded Sl &l [y I sRE IR 31 3R
oI ATl awg 3l IR BRI Y| & way T sifaqn Fuka @4 @1 sifteR urd g 7 | g digard! g
eI Bl Uizl U1 forad 3l 9gd gu Sl = Aeg Uikmn 9 Riy a@ g ard 990f R &1 FRifd
F & foru FeefieR (@len) 1 SH@R 3 gi 8 9 foram 3R 39% gR1 34 841 3R Irsdf &f
srforaeTsli i o0 fodl & ST S 1 SR 1 W1 o i | 98 Iureianie ®1 srfemaw
SiAE o ] TUd BT 3@ 3901 P g4l (Tolsn) F o7 |

3ATET e H WMol [T B ddadl &l AR & [ e & JHd UR SR $ & (010 &1 &A1 4T
| fafew Toie Hp- 38 A HeRT @ $gl o GHsid W 8&18R B3 & 914 o] 3 (HeRIUM) & g0
aTel &3 H AR ® faEdR 81 | 11 feifew weifyal 9 srafeie o8 9 o S drell 16l B 570 . P
YR = SR = Ria o0 3t sidenawyt o fgufed o fgr o | 599, HR 1§ Yeifad f& s e
20,000 T I TRIAHHT XiTd &1 IcdTe Hf M o7 | 37 Widl &1 Gy J WU aTeiRl, AR Wi,
! fafd fear omdr ur | ot 392 faea & St fafaain & &2t ufawsf faed ot |

Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R

Assertion-A : The British wanted Ranjit Singh to sign the treaty.
Reason R: The British wanted to control the trade through the Indus.
In the light of the above statements, choose the correct answer from the options given below:

. Both A and R are true and R is the correct explanation of A.

. Both A and R are true but R is not the correct explanation of A,
3. Aistrue but R is false.
4. A is false but R is true.

1

(2) 2

(3) 3

(4) 4

19 31 FU= U Y §: TP MUSHYA (Assertion A) & =9 § [T11&d § dl GHRI 3P BRI (Reason R) &
quf

AU A ; 3 TTed ¥ fob ool Rig I0eid R sXaR &1 |
RUTR : U, (Y o SRNY AR &1 FHafEd e aed 9 |
IWRIad Y & AP 4, -ild [SU T [dPHedl § 9 Hel SR B 9g- Pifolg

LA SRR ITE RR AT Tl AR |
LAMRRIFATITE, GG R, AT Tl AT 61 © |
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(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=35685] Question Description : general_paper_genarel paper_set 21_english_q47
2[Option ID=35686]

3[Option ID=35687]
4[Option ID=35688]

Sl. No.48
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Read the passage and answer the question given below :

Aware of the high stakes involved in seizing control over the Indus for navigation. the British persuaded two
Sindh amirs, Rustam Khan, the Amir of Khanpur and Murad Ali of Hyderabad, to enter into a one-sided treaty
and as proxies to throw the Indus open to the British Military and political penetration. Under the treaty,
signed reluctantly by the Sindh amirs, the British obtained the right to take the final decision regarding
taxation duties on goods passing through the Indus to the Arabian Sea. This was a variation of a gun-boat
diplomacy with which the advancing British seized the veto in their hands to control the entire trade flow from
Central Asia to Sindh and thereby the right to manipulate the economies of the regions and the states,
including that of Ranjit Singh whose removal was not on their agenda.

The next step was to coerce Ranjit Singh to sign the treaty, opening Sutlej to commerce as well. The British
agent, Captain, Wade, told the Maharaja that the expansion of trade in his (the Maharaja's) dominions would
result only after singing the treaty. But the British agencies had disrupted the economy of the Sikh state by
imposing a heavy toll of Rs. 570 on the boats carrying large loads. This included the pashmina shawl output
from 20,000 looms that were operating in Kashmir. The shawls were exported mainly to the European market,
especially France, where they posed stiff competition to woollen manufacturers from Britain.

Fafafad Teiw o ufdd 3R Uy 3T 3w SIS |

1 & forg Rie R (=01 wifud &3 4 g1 ard fgdanl &1 SHd gU iU 3 Ry & 3 ok, @F%R
& 3R $XIH WM 3R SeRTETE RIS 3l 31 U 9&iTa JHaiar d- 3R wieht (e & =0 i
fefew I SR Tomifae waw & fou Ry & @ra- & o el fan

e & SHRI GRT SH=sT9d® GAI&R [T 7TU 590 IH3Id & dod SiUsl & Y ¥ 3RE 9FR & 3R
oI arell aeg3fl IR BRI Yeb! & dad T ifaqn Foka &4 &1 sif¥eR urd g 7 | 1 digard! g
el 1 JUIR YT S 3 g g Siiisii 4 Hed ufkran § Ry deb g1 ard §yuf omR &1 Fafad
FA & foru iR (@) B SHSR 30 g1 B 9 T 3R 3% gR1 3 831 3R Isf $1
stfcarted ®f 3 fBdl & S a7 & DR i U $= o | 94 reiiaiis @1 sidoraer ot
<iHE o e Gard ST 3@ 3901 B gl (Tolsn) J o7 |

AT HaH UTeld g B Idasl Pl AUR & [dU @id- & THHAd IR S8R @R & [0 a1ed BT U
| f3fewr Uoie &P 38 A HeRToN ¥ &gl i IHsid TR 8WIER TR & a6 8 3-9% (HERIVN) & =0
gTel &3 H STUR 1 faEdR 81 | U1 fsifew Uiyl 3 srane &8 |Em o i arell 16l 9R 570 3. P
YR % fERITT o= Rieg Tou &t srfegawyl & faufed o= fegr ot | 599, ek & denfoa fe o 3e
20,000 BT I TRHAT 2Td 1 It ol iEE o7 | 37 Widl &1 GEey J WU aeRl, [GRNeR Wi,
! gl forar oar o1 | Tetf 39 foea & -t fafmion &t St wioegsf foedt ot |

Who were persuaded by the British to enter into a treaty with them?

A, Rustam Khan
B. Murad Ali
C. Ranjit Singh

Choose the most appropriate answer from the options given below:

. A and B only
.B and C only
A and C only
A, Band C
1)1

) 2

3) 3

4) 4
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3T gRT g S0 T1Y 9HElal &4 & oy ol fasar mr 2

A TET EH
B. RIS 3fefl
c. Iureita 18

19 fau T famedl § ¥ 98 UG TR BT 907 BT

1. $ad A IR B
2. HAAB AR C
3. Had AR C
4 A B3RC

1) 1

) 2
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1[Option ID=35689] Question Description : general_paper_genarel paper_set 21_english_q48
2[Option ID=35690]
3[Option ID=35691]
4[Option ID=35692]
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Read the passage and answer the question given below :

Aware of the high stakes involved in seizing control over the Indus for navigation, the British persuaded two
Sindh amirs, Rustam Khan, the Amir of Khanpur and Murad Ali of Hyderabad, to enter into a one-sided treaty
and as proxies to throw the Indus open to the British Military and political penetration. Under the treaty,
signed reluctantly by the Sindh amirs, the British obtained the right to take the final decision regarding
taxation duties on goods passing through the Indus to the Arabian Sea. This was a variation of a gun-boat
diplomacy with which the advancing British seized the veto in their hands to control the entire trade flow from
Central Asia to Sindh and thereby the right to manipulate the economies of the regions and the states,
including that of Ranjit Singh whose removal was not on their agenda.

The next step was to coerce Ranjit Singh to sign the treaty, opening Sutlej to commerce as well. The British
agent. Captain, Wade, told the Maharaja that the expansion of trade in his (the Maharaja's) dominions would
result only after singing the treaty. But the British agencies had distupted the economy of the Sikh state by
imposing a heavy toll of Rs. 570 on the boats carrying large loads. This included the pashmina shawl output
from 20,000 looms that were operating in Kashmir. The shawls were exported mainly to the European market,
especially France, where they posed stiff competition to woollen manufacturers from Britain.

frofafad meiw o1 9fed 3ik vy &1 3R S |

e & fore e IR o0 Rt &3 9 5 ard feqard! &1 9d gu Sitel = Ry & &1 SiiRf, @F3R
& 3R TXH WM 3R SeRTa1E $ RIS 3t BT UP geila JHeiar B iR wRieht (el & =9 H
fafewr Al iR Aoifae ydw & fow Ry o @a & o ol [

e & oI g1 o =8Tud e BEa1er fary 70 340 THSid & dgd il &f Ry I oRE GFR &t 3R
ToRA aTel asi IR BT Yoot & way H sifom Fofa 97 &1 e urea g1 7/ | 7% drard 919
eI BT Aol U1 forad 3 ggd gu iUl = Heg Uik 9 Riy a & ard 99uf R & Ffa
F F foru FeefieR @len) B 8@ 3= gl 8 & foram 3R 39 gR1 S &4 3R Il &t
stfoaaedtadl & o fgdl & S E Y a7 & ASHR i U &= o | 90 reliaiis @ siderawr ot
e o ] SH ST 31@ 3901 Prd g4l (Tolsn F o7 |

AT HaH JUTelld {5 I Hdesl Pl sAUR & (U Wia- & THA IR SHI1&R $R- & [y a1eg D=1 Ul
| fsfewr Uoie HpH ds A HeRToN 9 &8l [ IHSid TR 8WIER &34 & a4 o 3-8 (HERIVN) & 50
g1t &7 H oA1UR BT faR g1 | uiq fsifew guifiai 3 sranieies &8 = o o arell -dl W 570 . .
YR T2 SRR = e wou &t srdogawy 1 faufed &= faar o | 39H, =R § Jaifed & on g
20,000 HET & TRIHAT Tid BT Se1gA o =M o7 | 57 el o Ty 3 i aeR], a2 wiv,
! fria favar o o | el 3= foea & St famion o sot wicaet fyed o |

Given below are two statements:

Statement-I: The Sindh amirs were quite pleased and willing to sign the treaty with the British.
Statement-II: Controlling the navigation through the Indus was high on the British agenda.
In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct.

2. Both Statement I and Statement II are incorrect.

3. Statement I is correct but Statement II 1s incorrect.
4, Statement I is incorrect but Statement II is correct.




1) 1
(2) 2
(3) 3
(4) 4

TR Hyfumue:
YT : e & TR, Sl & A1y IHSid IR SHIER B3 & [0 BB 00 R 55 o |

Y 1 : Rt & SR S18E R HEa0 &A1 §iew usist & wige wE w@ar ol |
SRITT DY & el |, i 3T 7 fadedi & 3 Tad IUgw SR 1 999 DIT:

1. BYF 1 AR 11 SHT Tel g1
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1[Option ID=35693] Question Description : general_paper_genarel paper_set 21_english_q49
2[Option ID=35694]
3[Option ID=35695]
4[Option ID=35696]
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Read the passage and answer the question given below :

Aware of the high stakes involved in seizing control over the Indus for navigation, the British persuaded two
Sindh amirs, Rustam Khan, the Amir of Khanpur and Murad Ali of Hyderabad, to enter into a one-sided treaty
and as proxies to throw the Indus open to the British Military and political penetration. Under the treaty,
signed reluctantly by the Sindh amirs, the British obtained the right to take the final decision regarding
taxation duties on goods passing through the Indus to the Arabian Sea. This was a variation of a gun-boat
diplomacy with which the advancing British seized the veto in their hands to control the entire trade flow from
Central Asia to Sindh and thereby the right to manipulate the economies of the regions and the states,
including that of Ranjit Singh whose removal was not on their agenda.

The next step was to coerce Ranjit Singh to sign the treaty, opening Sutlej to commerce as well. The British
agent, Captain, Wade, told the Maharaja that the expansion of trade in his (the Maharaja's) dominions would
result only after singing the treaty. But the British agencies had disrupted the economy of the Sikh state by
imposing a heavy toll of Rs. 570 on the boats carrying large loads. This included the pashmina shawl output
from 20,000 looms that were operating in Kashmir, The shawls were exported mainly to the European market,
especially France, where they posed stiff competition to woollen manufacturers from Britain.

fgfefad meiw @ ufed iR Uy &1 3R 21T |

1 & for Rie R gz ®ifd &3 4 51 ard fgdenl &1 SHd gU iU 3 Riy & 3 ok, @R
& 3fR TEH W 3R SRIETE & RIS 31l B U Uiy JHeiar 3 oik wieft () & =g H
fafex SF@1 R Toiae waw & forg Ry 31 @ & g 3ot el

e & SRl gRI SH-=STqded GXKiER BT U 58 G99 S ded SiUs] B Ry d 3Re R 31 3R
oI ATl avg3il IR 14T Y| & ey T ifaqn Fuka &4 &1 sifteR urd g 7 | gg digard! g
eI BT Suiavur U1 forad 3l dgd gy Sl 3 Aeg uikmn 3 Ry a@ g ard 990f R &1 Fifa
P P fou (YIS R (dieh) &1 SF®HR 3= 814 3 d foraT iR 39$ 194 &3 SR I9] I
srforarsti i o fodl & S 891 1 SfeR +f v o foran | 98 Yuriiaiic @1 sefomawr «f
<AE o ] Gad ST 3@ 3901 Prd gl (Tolsn) J o7 |

3ATAT e H WoiTd e B gdadl &I AYR & (o i & JHd UR 1R - & (o1 |16 &A1 U7
| fsfe=r Uoie FpH 98 A HeRToN 9 &gl [ IHsid TR 8WIER &34 & a4 g 3-d (HERIVN) & 80
arel &9 H AR o faTdR g1 | 11 fsifew weifyal 3 srafeie &8 e o SH darell 71dl &R 570 3. P
YRt % fERIT o Rieg 0 3t erfogaw of foufed o= fRgr ot | 59, ek & denfera fe o ee
20,000 T I GRIHAT QTd &1 Icd1e +f N o7 | 37 Widl &1 Gy J I aeiRl, [ARNeR Wiv,
! fafd forar oiar o1 | STet 39 foea & -t fafamion &1 Hot wfawaef foedt o |




Given below are two statements: One 1s labelled as Assertion A and the other is labelled as Reason R
Assertion-A : The British wanted to control the navigation routes through the rivers.

Reason R: Rivers were used for trading goods and the British found it luerative to make profit by controlling
the trade.

In the light of the above statements, choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A.
2. Both A and R are true but R is not the correct explanation of A.
3. Ais true but R is false.
4. Ais false but R is true.
1)1
(2) 2
3) 3
(4) 4

1 3 U= U T §: U 11U (Assertion A) & =9 § 1140 § dl GHRI 3UP BRI (Reason R) B
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2[Option ID=35698]
3[Option ID=35699]
4[Option ID=35700]
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2[Option ID=34302]

3[Option ID=34303]
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1[Option ID=34313] Question Description : kannada_kannada_set 1_kannada_q4
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1[Option ID=34317] Question Description : kannada_kannada_set 1_kannada_q5
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1[Option ID=34321] Question Description : kannada_kannada_set 1_kannada_q6
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1[Option ID=34325] Question Description : kannada_kannada_set 1_kannada_q7
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1[Option ID=34329] Question Description : kannada_kannada_set 1_kannada_q8
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1[Option ID=34333] Question Description : kannada_kannada_set 1_kannada_q9
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1[Option ID=34337] Question Description : kannada_kannada_set 1_kannada_q10
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1[Option ID=34341] Question Description : kannada_kannada_set 1_kannada_q11
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1[Option ID=34345] Question Description : kannada_kannada_set 1_kannada_q12
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1[Option ID=34349] Question Description : kannada_kannada_set 1_kannada_q13
2[Option ID=34350]

3[Option ID=34351]
4[Option ID=34352]

Sl. No.14
QBID:121014

QD B0 VIT FDS0O Toe-

1. e T8, {eade Do, Keade TIAT IO

2]

 AVTIROT TRV VYT

3.09 0TS BT STTIR
4. TR, LT BIWIO) TOTTOL BT FOT
(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=34353] Question Description : kannada_kannada_set 1_kannada_q14
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1[Option ID=34357] Question Description : kannada_kannada_set 1_kannada_q15
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1[Option ID=34361] Question Description : kannada_kannada_set 1_kannada_q16
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1[Option ID=34365] Question Description : kannada_kannada_set 1_kannada_q17
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1[Option ID=34369] Question Description : kannada_kannada_set 1_kannada_q18
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1[Option ID=34373] Question Description : kannada_kannada_set 1_kannada_q19
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1[Option ID=34377] Question Description : kannada_kannada_set 1_kannada_q20
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1[Option ID=34381] Question Description : kannada_kannada_set 1_kannada_q21
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1[Option ID=34385] Question Description : kannada_kannada_set 1_kannada_q22
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1[Option ID=34389] Question Description : kannada_kannada_set 1_kannada_q23
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1[Option ID=34393] Question Description : kannada_kannada_set 1_kannada_q24
2[Option ID=34394]

3[Option ID=34395]
4[Option ID=34396]

Sl. No.25
QBID:121025

‘BT’ D0 BTOTY STA0N VRRPOW TToTIRY, BEYTITTO—-
1. BOTIDEE
2. 83000&e 8¢

3.3e9830W
4.0 T

(1) 1

2) 2

(3) 3

(4) 4

1[Option ID=34397] Question Description : kannada_kannada_set 1_kannada_q25
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1[Option ID=34401] Question Description : kannada_kannada_set 1_kannada_q26
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1[Option ID=34405] Question Description : kannada_kannada_set 1_kannada_q27
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1[Option ID=34409] Question Description : kannada_kannada_set 1_kannada_q28
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1[Option ID=34413] Question Description : kannada_kannada_set 1_kannada_q29
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1[Option ID=34417] Question Description : kannada_kannada_set 1_kannada_q30
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1[Option ID=34421] Question Description : kannada_kannada_set 1_kannada_q31
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1[Option ID=34425] Question Description : kannada_kannada_set 1_kannada_q32
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1[Option ID=34429] Question Description : kannada_kannada_set 1_kannada_q33
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1[Option ID=34433] Question Description : kannada_kannada_set 1_kannada_q34
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1[Option ID=34437] Question Description : kannada_kannada_set 1_kannada_q35
2[Option ID=34438]
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1[Option ID=34441] Question Description : kannada_kannada_set 1_kannada_q36
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1[Option ID=34445] Question Description : kannada_kannada_set 1_kannada_q37
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1[Option ID=34449] Question Description : kannada_kannada_set 1_kannada_q38
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1[Option ID=34453] Question Description : kannada_kannada_set 1_kannada_q39
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1[Option ID=34457] Question Description : kannada_kannada_set 1_kannada_q40
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1[Option ID=34461] Question Description : kannada_kannada_set 1_kannada_q41
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1[Option ID=34465] Question Description : kannada_kannada_set 1_kannada_q42
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1[Option ID=34469] Question Description : kannada_kannada_set 1_kannada_q43
2[Option ID=34470]
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1[Option ID=34473] Question Description : kannada_kannada_set 1_kannada_q44
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1[Option ID=34477] Question Description : kannada_kannada_set 1_kannada_q45
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1[Option ID=34481] Question Description : kannada_kannada_set 1_kannada_q46
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1[Option ID=34485] Question Description : kannada_kannada_set 1_kannada_q47
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1[Option ID=34489] Question Description : kannada_kannada_set 1_kannada_q48
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